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If one of the diameters of the circle x2 + y2 - 2x - 6y + 6 = 0 is a chord of another circle 'C' whose center is

at (2, 1), then its radius is .

Let the linesy + 2x =11 + 777 and 2y + x = 211 + 6\/7 be normal to a circle C: (x -
h)2 + (y- k)2 =r2. If the line V11y - 3x = 5\77/3 + 11 is tangent to the circle C, then
the value of (5h - 8k)? + 5r2is equalto __.



The set of values of k for which the circle C: 4x2 + 4y2 - 12x + 8y + k = 0 lies inside
the fourth quadrant and the point (1, - 1/3) lies on or inside the circle Cis :

(A) An empty set
(B) (6,95/9]
(C) [80/9,10)

(D) (9,92/9]

Let a circle C of radius 5 lie below the x-axis. The line Ly = 4x + 3y - 2 passes through
the center P of the circle C and intersects the line L, : 3x -4y - 11 =0 at Q. The line L,
touches C at the point Q. Then the distance of P from the line 5x-12y + 51 =0'is

If the tangents drawn at the point O(0, 0) and P(1 + V5,2) on the circle X2 + y2 -2X-
4y = 0 intersect at the point Q, then the area of the triangle OPQ is equal to

(A) 3+15/2
(B) 4 + 25//2
(C)5+3V5/2

(D) 7 +3V5/2



